Class 7 — Lives

BZ’V'\M;‘

— O)%m{’i‘ans W"XV\(\ %mf/f ons
A 4 _ 1-4 - -3 3 - _
6

...,Q’_::_____.—- —
A 6 *3

\ /)
6 32 ¢

OV\ Ca\C\A.\OLXYO‘( . \26 -2 =3 —D ~-0.5 2.vd J PR% —Yy _ A

2.
<2\(\CA~; Ab(c’>
.3 - 43 -3 D (422) % (3 >4)
2 4 2-Y 4
o3 = 304 =AM 22— n(122)2(32Y)
A 4 2. 2 23 & 2 S
T- ! - =
—> Tinding inhercepts L

/x
3X’<&>{:4O

x—'mjve\“cep’r . sel V=0, 3%x-%8:0=10 = %\X- AO -—->\ = '\O\

\/_'\(\)ﬂC’XC,e,P{' . SQJJY x=0. 30— 8\/ -*I\IO -——'> \%\[ "’>r J
_\3 _g

A

-




—> Rearra\nge, 2 Linear e,qucﬁrion (in ferms o@ xB

— P\ZOWVDC&\S & NQQa\"\\/e Re/cipVDCa\

« 2 and 4 are V%'\\Evoca\s => 3.4 - 34 _12 _ 1.
4 3 o>

/

4 B, 12,
® "2‘_ OvY\O\ S are “Yleﬁa’n“ve, 'T@C.\\?TOC&\S <:> '-2:. . _ré - - 25 = - _\__C_)_ =- 1
5 2 5 2 55 (O
t e S\O\D@s oxe,
N. R.
L 1nes
v . 5\0 0, 2 =% \/):: X
A POm’t ('X‘J\/7

.—-93\0()2. L > y= X

bongs Yo a line '\%,

78 oMk OY\\Y \% \Svs eo\v\a}ﬁovw

5 True %Dr (5,90

b 5\0\',70, -3 % Y =-3x

(onsider  Lx—-v=5. Ts the pot é\% on +ais \ine 7
92-3=5 &) 4-3=5 TALSE< (2/2) 35 not a yoin{’ on

—~ check Yok (2-4) 16 on Y line. e line 2x-y= 5.



—%  How )ro CO\m\Smjie, Tae §\o\>€/

El‘!@effum‘\m jr\/\e/ S\Opa e@ e \'me Wss‘mg qJV e

\?ow\jts (4.:2) & (5, 3). %
Xy 4 Xy Y2 \/ — % +\D 1‘.’) " CUm‘pujVe S\O'Pe_,
T T ~ \IQ‘~\/L,.
S\OV& \/.,mjf n= 'xz—xi
nd \
g 2 ) P‘-&g A W\‘ﬂ%
4\:& 9\0’?6 = .241._, —\‘D g/,\_nd b
run
6\0\9@ v - Va5 o= 2-2 - A
Fuwn XZ’XL 5 - i Af
I A
7:’LX+\O C(AQG\"\ %Or (5—\2) 2=A.4+%b Z_—,)Z:_ﬁ_,\,b
— i y "2\“ ’4;
D
I |2 =§]
. T A4 Y 4 4 4
x Y
\@C‘Q for(352) - 3:)} -3 tb & 3'§+b<~>3{§’;:b
/ 4 ,.% b
(12 5=
The equahion  y=rx+b is C

alled s\oE@—if\%@rcepf[ Lo R \ |



tx 2. find Yhe qua&’]OV\ d{- the line ?Q%m% ’\‘\(\\“Dllﬁ]ﬂ e,
?O’\Y\*S CA’\"'D and (&\53.
Yo Yy

5, Ya
Fslopesm | medih o 3-(CD - 342 . 5
\ Ko ~Xy L - 4 -5 5
2)‘{\ : \/__in'k'. :b y:_%x_‘.b ‘ P\ug_°\“ (é(w?)'
d

5 write qu&lon 3=-5.1L4b&= 3=X5 th <= 5 +3 = b

v 3 c 2 B

1’_5 +
‘O:E_l.ﬁ_ d=> o = | Ec‘\la\-f@ﬂ; >/: F—S—X*ﬂ
| 3 3 3 > 3

a—

£ X %,." —?'\na\ e, eq\w)r(on 9@ JV\/\Z line, PClQSiﬂg &’( C’-il(’z) OW‘O((Z‘5>
m=k %k b=2.

Flading He actuc&[on & a line given e S\ope % a Vo'\n’t’ :

xo \/O

EX3 Fid e equabion, given m=i K (-4,2).[y=x+2]

\(Y\: N Yo <:> Y --\{O — YY\(X -—Xcv -::.> \("Z:A-(X +i')
X

___XO

e y—-Z:X-\—L

kPo‘m’\‘-— S\OYQ, %‘D(m /

3(c) YD

_1\::5-4‘\1 Given m = %_ omd H/)c PO'mJV (“lJ) . Fmo\ Jr\r\e QC\U\OA’TO\(\
OKV his \ine Using the pom‘%-s\ape, %orm. RN

\
Y% = 0 (o) =2 Y=2 = F(nme) < [y =20 |
; .
_ oy \ .
\}—-{’% = .%x +% vl S \\[ = %-KJr %—*'7 6\ope—m3ve\”ce\§? ot

=



S*Omdam\ Torm

Arx By = C AZ0  (only ue integers)

/

Txd: Weikve Yo Qq\xa\'mh \ = %-_ % wm Stndarg rm .

3@)—_—.( % +%W3 = By—éx B+ %% <= 3;/ ,-*2\%—-8

—

f2X+3>/ =z - ﬂD(Q.X——-?)y:-*g

—d

EYercise wWrite tn all o\i'}'\,—éxﬂm't forms  Yhe zqvwd‘ioy\ Q{L the

ne  with %\opb m=4 ana y-'\\\’rarcep’t b=-23,

\/ y=4 =y ¥Y=44-33 =L
(A4)

%\o\m-w\*.: }'f—‘\mec\D — Y= 4x—3
— PD'\‘(\*" %\,Op&: \/—\10 = ‘(V\<X/§(0> — b Y,A_ — 4.<X_A—B
—9P %jio\ @orm; AX-&B{:C —> Y= Ux-3 — \[/3, by —s Lix-y._—3

+3 +3 _y -\

\Jex 3r'm\ & \’\ov‘\%;oﬁm\ L‘mas

" A=(42) B=(2,2) c=(22) D=(42)
a1 PR
] I%ZABC'D )
- _
i | —> £ = (=4, 4) F=(L L) szﬁﬂ




ralel B Vex pnd iowar  Lineg

Theoem L. +wo lines are  paralel 1§5  Fher slopes are egual.

Theorom 2 : kwo \ines are parpondiolar 7§ treiv slopes ave nesakive

VQ,CJ\?KOCQ\S ,

Ex i Nerify £ P lines  Ix¥2y=6 and 3x-12y=A are

\oqm\ el ‘?U‘P@V\O\\wa\f oY ity .

8X+2>{—;é =) 2y =-%x+C \/;_lex—l—g_,pm_—:——Ar
~3x - % = 2 T
3X—-\27’—?C\ =7 - 1’:‘:5%-\'6‘# =>y:/,L><+§_,*7 m=—_1
3x ~3X R \2- 4 T

e \ines are  veier.
Ex2 \]Uih £ e \ines  2%x+2y=D and 6Ex+ Ay =10 axe,

\oqm\ \ ‘?QT\P@Vd\WaY oY V\Q,\k\/\&‘(

Ix + 3 —b Iy =Z-2X+5 — YV=-23+S5 Sy =-—2
~2X y /278 % B ﬂ)\-’ y 3 3 m 2
6x+dy =10 — 4y = —6x 40— y=-2x+10 b m=-2
- bx% /éx a B A 3 9 >

T\(\ILSQ \‘w\@s aye Pam\\@\.



Find Qqu&‘rifov\ 9()( %W‘ o Yar. \_‘\Y\Q,S
?Exexc’\%-; consider e eqm‘r(on N 2x—4. Find The

equation of the parallel Yo this line, but Passing, Jf\f\\?wg\n
e point  (2,5). v re

A Equajr\o“
f& » Uy Yheocomns L % 2 ﬁ
\/ = 2x-4A
jro f(Q,IY ’\'\Ae, 3\OP(/ 92‘ \MC 2 , \lne, 4
> S\O‘(}Q 95‘; e A = 5\0\9& ol \ine 2 +3
eg. lim & Y= Zx+b - //L 77
2“0\ s Y 0 ivem \Jo‘m‘( o
| y = 2x+4
o\zjr@cminz, P QQU&!VQOR,
AN T

VYo = (X=X) =% Y- 5=2(x-2) —+ y-5= 2x-4

Cxacist:  consider Y equation 6x-3Y=4. Find the
Q_o\ucﬁ \ 0N @% he \Davpemdiwh\( ‘o Hais line | but PQS%V% Jr\mt’oug\\
’Hr\a ‘Po'm't (’5;”5). \!\I\’i)re/ \sr (‘N ‘?o'mJ\ "S\DFQ %O(m .

st

L7 perpendicular = Vieq. veciprocal

6><—-§\//::(/t :-:7 "67-‘—’—:65('?"[! = \/:%%-’_ﬁ_ lihe,L \nas

—b% - X -5 ) | = = &
- ‘ ) \ clope m 2

e 2 Vs slope V\m = -5

| 6 \ o Yo

y | (3,-5)
2 W &L H,UL P% SVO 3&% éc\uasriov\ : T —

_ 5[y~
V‘Yo:m(K“KJ —b 7—-@5)*—‘«%@4) —b L\/+5- Z(X 3)




